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1.  (a) What are the determinants of market demand ? How do
the changes in these determinants make the movement
along the d~mand curve and shift in the demand

curve ? 7
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Calculate the equilibrium price aaud equilibrium quantity

for the following demand and .upply functions : 7
Demand function : Q, = 90 - 2P
Supply function : Q, =3P - 1

Where Q, = Quantity demandcd

Q, = Quantity supplied. and

P = Price of the cominodity.

Explain production possibility curve. 6
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What do vou understand by price control ?

Explain th- concept of elasticity of demand and elasticity
of supply.
The market demand of a commodity X increases from

100 to 150 due to increase in price of another commodity

Y from Re. 40 to Rs. 50. Calculate elasticity of demand

of X with respect to price of Y. 668
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Describe the law of diminishing murginal rate of substitution

of good X for good Y.

Using Indifference Curve techniue, explain the income
effect and the substitution effect of a decrease in price

of a normal commodity. .12
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What do you understand by least cust method of producing

a given amount of output ?

Describe Total Variable Cost (TV.), Average Fixed Cost
(AFC), Average Variable Cost (AVC) ‘and Marginal

Cost (MC).
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(¢)  Calculate TVC, AFC, AVC and MC from the table given

below : 488
Output Total Cost
0 100
1 120
2 136
3 145
4 164
5 195
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What are’ the characteristics of perfect competition 2 Explain
the equilibrium condition of a firm under perfect competition

in the short run and in long run. 20
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Differentiate between monopoly and monopolistic
competition.
What do you understand by price discrimination in

monopoly ?
Describe Prisoner’s Dilemma. 488
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Explain various circumstances under which market fails

to allocate resources efficiently.

Discuss the theory of comparative advantage in

International Trade. How is it different from absolute
advantage theory ? 10,10
37 wfifafadl =t sren st fSad SR sEE
A @ Hue e # fawa & W ¥ 2
A @R @ wed § qos A @
fogid # =rem e T oy @ faga
q g wer il ® 2

P.T.O.



7522

( 8 ) 7522

Write notes on any two :
(7)  Derivation of labour supply curve
(ify  Derivation of long run average cost curve

(ii)  Game theory under oligopoly. 10.10
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